FNS SNAP SUA ICR Assumptions (OMB

	Estimate in		
Item	Currently Approved ICR	Number	
Number of SUA respondents	53	53	
Number of SUA self-employment methodology respondents	21	23	
Number of SUA recordkeeping respondents	53	53	

Control No. 0584-0496)

Updated Estimate	p:« ·	
Data Source	Difference in Estimate	
USDA FNS PDD State Options Report 14th Edition (published May 31, 2018)	0	
USDA FNS PDD State Options Report 14th Edition (published May 31, 2018)	2	
USDA FNS PDD State Options Report 14th Edition (published May 31, 2018)	0	

FNS SNAP Forms ICR Labo			
Type of Respondent	Estimate in Currently Approved ICR	Number	
State Agency	\$10.35	\$13.72	

es (OMB Control No. 0584-0064)

Updated Estimate

Data Source

Bureau of Labor Statistics (BLS) Occupational Employment and Wages Statistics data from May 2018; Occupation Code 43-4061 Eligibility Interviewers, Government Programs; Median Hourly Wage Rate for State Government = \$20.63. Available at https://www.bls.gov/oes/current/naics4_999200.htm#43-0000. We have multiplied this wage rate by 1.33 to represent fully-loaded wages.

However, 50% of administrative costs incurred by State agencies are reimbursed by FNS, which results in a reimbursement value of \$13.72 (\$20.63 x 1.33 x 0.50) per burden hour.

FNS SN

Respondent Category	Type of Respondent	Instruments	Form	Number of Respondents
Α	В	С	D	E
State/Local/Tribal Government	State Agency Staff	Review of SUA Submissions under 7 CFR 273.9(d)(6)(iii)	Not Applicable	53.00
State/Local/Tribal Government		Review of Self-Employment Methodology under 7 CFR 273.11(b)	Not Applicable	23.00
State Agency Reporting Burden Total				

AP SUA ICR Reporting Estimate (OMB Control No. 0584-0496)

Frequency of Response	Total Annual Responses	Hours per Response	Annual Burden (hours)	Hourly Wage Rate	Total Annual Cost of Respondent Burden	Previously Approved Burden Hours
F	G = E x F	Н	I = G x H	J	K = I x J	L
1.00	53.00	25.00	1,325.00	\$13.72	\$18,179.00	530.00
1.00	23.00	10.00	230.00	\$13.72	\$3,155.60	210.00
1.43	76.00	20.46	1,555.00	\$13.72	\$21,334.60	740.00

Change in Burden Hours Due to an Adjustment		Total Difference in Burden Hours
M = I - L	N	O = M + N
795.00	0.00	795.00
20.00	0.00	20.00
815.00	0.00	815.00

Respondent Category	Type of Respondent	Instruments	Form
Α	В	с	D
State/Local/Tribal Government	State Agency Staff	SUA Recordkeeping Requirements under 7 CFR 273.11(b)	Not Applicable

FNS SNAP SUA ICR Recordkeeping Estimate (OMB Control No. 0584-0496)

Number of Respondents	Frequency of Response	Total Annual Responses	Hours Per Response	Annual Burden (hours)	Hourly Wage Rate	Total Annual Cost of Respondent Burden
E	F	G = E x F	н	I = G x H	J	K = I x J
53.00	1.00	53.00	0.25	13.25	\$13.72	\$181.79

Previously Approved Burden Hours	Change in Burden Hours Due to an Adjustment		Total Difference in Burden Hours
L	M = I - L	N	O = M + N
6.20	7.05	0.00	7.05

FNS SNAP SUA ICR Burden Est

	Number of Respondents	Frequency of Response	Total Annual Responses	Hours Per Response
	Α	В	C = A x B	D
Total Reporting Burden	53.00	1.00	76.00	20.46
Total Recordkeeping Burden	53.00	1.00	53.00	0.25
Total Burden for #0584-0496	53.00	2.43	129.00	12.16

timate Summary (OMB Control No. 0584-0496)

Annual Burden (hours)	Hourly Wage Rate	Total Annual Cost of Respondent Burden	Previously Approved Burden Hours	Change in Burden Hours Due to an Adjustment	Change in Burden Hours Due to Program Change
E = C x D	F	G = E x F	н	I = E - H	J
1,555.00	\$13.72	\$21,334.60	740.00	815.00	0.00
13.25	\$13.72	\$181.79	6.20	7.05	0.00
1,568.25	\$13.72	\$21,516.39	746.20	822.05	0.00

Total Difference in Burden Hours
K = I + J
815.00
7.05
822.05